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GENERAL ENGLISH

Choose the correct Reported Form of the
sentences from the options given below :
(Qs. 76 - 79)

76. “Could you pass the sugar, please”,
she said.

(1) She requested me to pass the sugar.
(2) She advised me to pass the sugar.
(3) She ordered me pass the sugar.

(4) She told to me to pass the sugar.

77. She said, “Don’t wait for me after seven.”
(1) She told me not to wait for her -
after seven.

(2) She tells that we should not wait
after seven.

(3) She asks that we don’t wait after seven.

(4) She suggests to not wait after seven.

78. “I have an English lesson this
afternoon and I haven’t done my
homework yet”, said the boy.

(1) The boy told that he has an
English lesson this afternoon and
he haven’t done my homework yet.

(2) The boy complained that he have an
English lesson in the afternoon and
he was not done his homework yet.

(3) The boy suggested that he was
having an English lesson that
afternoon and I hadn’t done my
homework till then.

(4) The boy said that he had an English
lesson that afternoon and (that) he
hadn’t done his homework till then.

79. He said, “Sonia, when is the next train 7

(1) He asked Sonia when was the
following train.

(2) He asking Sonia when would be
the next train.

(3) He told Sonia when was the next train.
(4) He asked Sonia when the next
train was.
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Change the sentences as directed, choosing
from the options given below (Qs. 80 — 84) :

80.

81.

82.

83.

84.

These repairs will take a long time.

(Change into Negative)

(1) These repairs will take not a long
time.

(2) These repairs will not a long time
take.

(3) These repairs will not take a long
time.

(4) These repairs will not be take a
long time.

I have not seen your brother here.
(Change into Affirmative)

(1) Thas seen your brother here.

(2) Iam seen your brother here.

(3) Isaw your brother here.

(4) TIhave seen your brother here.

I went to Udaipur to see my mother.

(Change into Interrogative)

(1) Did I go to Udaipur to see my
mother ?

(2) Why you went to Udaipur ?

(3) Why was you go to Udaipur ?

(4) Why did you went to Udaipur ?

Where did you go last evening ?

(Change into Assertive)

(1) Idoes go to see a movie.

(2) Iam go to see a movie.

(3) I am went to see a movie.

(4) You didn’t go anywhere last
evening.

What a lovely house he has built for

himself ! (Change into Assertive)

(1) He has built a lovely house for
himself.

(2) Has he built a lovely house for
himself ?

(3) What has he built for himself !

(4) He has build a lovely house for
himself.



Fill in the blanks with the correct Article or
Determiner choosing from the options given
below : (Qs. 85 — 90)

85. I enjoyed reading book you
gave me.
(1) the 2) a
(3) any (4) some

86. Rajesh is better of the two for
this job.
(1) a (2) most
(3) the (4) more

87. Idon’t have money with me.
(1) many (2) afew
(3) alittle (4) much

88. Iunderstood of what he said.
(1) few (2) little
(3) any (4) many

89. There isn’t truth in this
statement.
(1) some (2) many
(3) most (4) any

90. Do you take sugar in your

coffee ?
(1) an (2) a
(3) no article (4) the

Fill in the blanks with the most appropriate
Preposition choosing from the options given
below : (Qs. 91 - 96)

91. The train leaves exactly six in
the evening.
(1) on (2) in
(3) at (4) from
92. Ibought this shirt T 200.
(1) for (2) in
(3) with 4) of
93. She is suffering a bad throat
infection.
(1) by (2) with
3) of " (4) from

94. Some people eat their food

their fingers.
(1) by (2) with
(3) through (4) from
95. The burglar got in the window.
(1) at (2) by
(3) through (4) from
96. The railway line runs the river
and the road.
(1) among (2) between

(3) besides (4) through

Translate the following sentences into Hindi
choosing the correct alternative from the
options given below : (Qs. 97 - 99)

97. Hard work is the key to success.
(1) o FoReTaT i el & |
(2) oot HeTd ¥ WOHETAT =8l fert & |
(3) WHeT e W & et ¥ |
(4) i ¥ gfiteher ¥ Fher et ¢ |

98. Almost all cities in India are heavily
polluted.

(1) ¥RA % $T MW T WG ¢ |

(2) YWRG % T W ¥ FAAUS
el € |

(3) 9Ra & gt R aveafuss wgha € |

(4) YR % Qi wree Fafrerer 0 @ g € |

99, India needs to solve its problem of
unemployment.

(1) WRe H RIS Y ATETTH ¢ |
(2) AR Y SASHIRT B T Tl @ e |

(3) WRe I AT SASHIRT H FHT i
&1 H o AEIHAT ¢ |

(4) HRA B RASTR DI THENS H &
FA I AR & |
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Translate the following sentences into
English choosing the correct alternative from
the options given below : (Qs. 100 — 102)

100. Tris/s FRifcal & geM & fow W
A TR ¥ |
(1) Strict laws are required to
eradicate social evils.

(2) Strict laws always aim at
eradicating social evils.

(3) Liberal laws are required to
eradicate social evils.

(4) Complex laws always aim at
eradicating social evils.

101. 7 FT 9E TSAER T e ¥ |

(1) My brother wants to be a big
engineer.

(2) My big brother wants to become
an engineer.

(3) My elder brother wants to become
an engineer.

(4) My elder brother is wanting to
become an engineer.

102. g AHN § TSR0 I SRS TRl |
(1) Rising temperature  causing
environmental problems.

(2) Rise in temperature creates real
problems for the environment.

(3) Rising temperature really
" threatened the environment.

(4) Rising temperature is a real threat
to the environment.
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Pick out the correct sentence from those
given below : (Qs. 103 - 110)

103. (1)
@)
3)
4)

104. (1)
03
3)
“

105. (1)
)
3)
@
106. (1)
)
(3)
Q)
107. (1)
)
3)
4

A number of students is absent
today.

A number of students are being
absent today.

A number of students are absent
today.

A number of students been absent
today.

The class had divided in their
opinions.
The class have divided in their
opinions.
The class were divided in their
opinions.
The class being divided in their
opinions.

It was a darkest evening of the
year.

It was a darker evening of the
year.

It was the darkest evening of the
year.

It was the most darkest evening of
the year.

She rubbed her eyes hardly.
She hardly rub her eyes.
She rubbed hardly her eyes.
She rubbed her eyes hard.

He’ll probably say no, and it’s
worth asking.
He’ll probably say no, though it’s
worth asking.
He’ll probably say no, or it’s
worth asking.
He’ll probably say no, while it’s
worth asking.



108. (1) This is the most interesting
project I have seen so far.
(2) This is more interesting project I
have seen so far.
(3) This is a more interesting project I
have seen so far.
(4) This is the mostest interesting
project I have seen so far.

109. (1) Chennai was worst effected by the

floods.

(2) Chennai was the worst affected by
the floods.

(3) Chennai was worst affective by
the floods.

(4) Chennai was the worst effective
by the floods.

110. (1) She turned down the offer after
the package was quite
unattractive.

(2) She turned down the offer if the
package was quite unattractive.

(3) She turned down the offer
because the package was quite
unattractive.

(4) She turned down the offer in case
the package was quite
unattractive.

Choose the correct meaning of the following
Technical/Official terms from the options
given below : (Qs. 111 & 112)

111. Assets / IRE=f
(1) Inheritance
(3) Legacy

(2) Income
(4) Property

112. Affidavit / 399-93
(1) Formal promise
(2) Legal guarantee
(3) Written statement under oath

(4) Certificate of acceptance under
oath

Choose the correct synonym of the words from
the options given below : (Qs. 113 & 114)
113. Uniform

(1) Variable (2) Unique

(3) Even (4) Use
114. Awe

(1) Pity (2) Fear

(3) Anger (4) Horror

Choose the correct antonym of the words from
the options given below : (Qs. 115 & 116)
115. Victory

(1) Conquest (2) Destruction

(3) Defeat (4) Success
116. Broad

(1) Shallow (2) Deep

(3) Wide (4) Narrow

Choose one word for the expressions from
the options given below : (Qs. 117 - 119)
117. Someone who does not like to work.
(1) Inactive (2) Dreamer
(3) Lazy (4) Unemployed

118. Someone who eats a lot of food.
(1) Regular diner (2) Glutton
(3) Foodie (4) Greedy person

119. Statement of how much a piece of
work will probably cost.
(1) Prediction (2) Estimate
(3) Forecast (4) Budget

Select the correct prefix/suffix to change the
form of the given word. (Qs. 120 - 122)
120. Noble

(1) Un__ (2) Non

(3) In (4 lg-—
121. Natural

(1) In (2) Dis__-

(3) Un (4) Non
122. Neat

(1) ness (2) _____ally

(3) ____ _ment 4 ____ full
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Fill in the blanks with the contextually
correct word from the given options :
(Qs. 123 -125)

123. He to lend me money.
(1) denied (2) refused
(3) rejected (4) excepted

124. America was by Columbus.
(2) founded

(4) researched

(1) invented
(3) discovered

125. My brother was out of the window.
(1) seeing (2) looking
(3) watching (4) thinking

Read the following passage and answer the
questions (Qs. 126 - 130) that follow by
choosing the correct option.

Too much importance must not be
attached to the wrong acts done by children,
particularly if they happen to be of minor
nature. Many boys and girls at a young age
are likely to be in the habit of stealing,
neglecting their studies, slipping out of their
classes or using bad language. In nearly
every case of root cause of the trouble is the
fact that proper care of the child is not taken
in the house or sufficient interest is not
shown to him. But if the parents were wise,
they would correct the faults of their
children by paying more attention to them.
Whatever the case, one thing should never
be done. Bad things in the children should
never be repressed, that is, they should not
be compelled to change for the better under
fear of the rod. Physical punishment does
not improve them. It only makes them worse
than before.
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126. What do boys and girls at young age do ?

(1) Watch movies

(2) Go to temples very often.

(3) They are likely to be in the habit
of stealing, neglecting their
studies, slipping out of their
classes or using bad language.

They are likely to obey their
parents.

@

127. The root cause of young boys and girls

misbehaviour is —

(1) the fact that proper care of the
child is not taken in the house or
sufficient interest is not shown to
him.

lot of care of the child is taken in
the house and sufficient interest is
shown to them.

(3) they are pampered a lot.

(4) they are not spoilt kids.

(2)

128. What is the duty of a wise parent ?

(1) Not to take enough care of the
child.

To correct the faults of their
children by paying more attention
to them.

To give them all latest gadgets.
None of these.

(2)

3)
4

129. Why should not a rod be used to make
children better ?

(1) So that the rod does not break.

(2) So that parents can sleep well.

(3) Because physical punishment
does not improve them. It only

makes them worse than before.
Rods are very expensive.

4)

130. What is the synonym of the word
‘compelled to’ used in the passage ?
(1) forced to +(2).:love to

3) hide' to (4) fightto



Choose the most appropriate option from the
choices given below : (Qs. 131 - 140)

131.

132.

133.

134.

An official letter is written in
language.

(1) impolite
(2) formal
(3) highly informal
(4) very ambiguous

Which of the following must be
included in an official letter ?

1)
2

The address of the receiver

Greetings for the family of the
receiver

An enquiry about the health of the
receiver’s family

3)

(4) The writer’s future plans

Choose from the following an
acceptable way of writing the date :

(1) 15 March 2016
(2) 15,March 2016
(3) 15 of March 2016
(4) 15 March, 2016

Which of the following is the correct
way of writing the address ?
(1) Shri Dilbagh Singh

Deputy Director
(2) Deputy Director
Shri Dilbagh Singh
Shri Dilbagh
Deputy Director
Dilbagh Singh
Deputy Director

3
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135.

136.

137.

138.

139.

140.

Choose the correct answer :

The first paragraph of the official letter
should :

(1) say something about the weather
(2) warn about the consequences if no
action is taken by the receiver
introduce the subject and indicate
the purpose of writing

say something to flatter the receiver

3)
C))

Which of the following is a correct
form of ending a letter ?

(1) Yours faithfully

(2) Your’s faithfully

(3) Yours Faithfully

(4) Yours faithfuly

Pick out the correct form of
greeting/salutation in a demi-official
letter :

(1) Dear Friend

(2) Dear Sir

(3) Dear Shri Gupta

(4) My respected Sir

Circulars are letters :

(1) containing confidential information
(2) containing circular arguments

(3) circulated to a few selected officials
(4) circulated to a large number of people

A displayed sheet giving news or
information is called

(1) an office order (2) a note sheet
(3) anotice (4) areport

Tenders are

(1) written quotations to complete a job
(2) public notices about jobs to be done
(3) advertisements for a new product
(4) payment for jobs done



Fill in the blanks with the correct tense of the
verb from the given options : (Qs. 141 — 146)

141,

142.

143.

144.

145.

146.
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I to Agra before, so I don’t wish
to go there again.

(1) had been
(2) went

(3) had gone
(4) have been

Mohan

(1) seems

rather tired today.

(2) 1is seeming
(3) is seem

(4) do seems

She broke down when she __ the
news.

(1) had heard

(2) was hearing

(3) heard

(4) was heard

I was sure that he succeed,

(1) will (2) would

(3) shall (4) should

It rained so hard that we not go out.
(1) could (2) can

(3) may (4) will

He kept looking at her, wondering
where he her before.

(1) had seen

(2) have seen

(3) was seen

(4) was seeing

Change the voice in the sentences given
below by selecting the correct alternative :
(Qs. 147 - 150)

147.

148.

149.

150.

We had to count the money.

(1) The money was to be counted.
(2) The money had been counted.
(3) The money was counted.

(4) The money had to be counted.

Somebody has already used this towel.
(1) This towel is already used.

(2) This towel was already used.

(3) This towel has already been used.
(4) This towel had already used.

They have proved all his calculations
wrong.

(D

All his calculations have been
proved wrong.

2
3

All his calculations are proved wrong.

All his calculations are being
proved wrong.

All his calculations had been
proved wrong.

)

Many serious accidents are caused by
negligence.

(1) Negligence has

serious accidents.

caused many

2

Negligence causes many serious
accidents.

©)

Negligence causing many serious
accidents.

4)

Negligence is causes many serious
accidents.

n ot
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